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QUESTION 1
What is one difference between SaltStack and Ansible?
A. SaltStack uses the Ansible agent on the box, whereas Ansible uses a Telnet server on the box.

B. SaltStack uses an API proxy agent to program Cisco boxes in agent mode, whereas Ansible uses a Telnet
connection.

C. SaltStack uses SSH to interact with Cisco devices, whereas Ansible uses an event bus.
D. SaltStack is constructed with minion, whereas Ansible is constructed with YAML.

Correct Answer: D

QUESTION 2

What is one role of the VTEP in a VXLAN environment?
A. to forward packets to non-LISP sites

B. to encapsulate the tunnel

C. to maintain VLAN configuration consistency

D. to provide EID-to-RLOC mapping

Correct Answer: B

QUESTION 3

How is 802.11 traffic handled in a fabric-enabled SSID?

A. centrally switched back to WLC where the user traffic is mapped to a VXLAN on the WLC

B. converted by the AP into 802.3 and encapsulated into VXLAN

C. centrally switched back to WLC where the user traffic is mapped to a VLAN on the WLC

D. converted by the AP into 802.3 and encapsulated into a VLAN

Correct Answer: B

Fabric AP communicates with fabric WLC using capwap for control plnae comms ony. To communicate with the SD-

Access fabric, the AP will use vxlan encapsulation. https://www.cisco.com/c/dam/en/us/td/docs/cloud-systems-
management/network-automation-and-management/dna-center/deploy-guide/cisco-dna-center-sd-access-wl-dg.pdf
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QUESTION 4

Which configuration restricts the amount of SSH traffic that a router accepts to 100 kbps?

A

class—-map match—-all CoPP SSH
match access-group name CoPP SSH
I s L
policy-map CoPP ESH
class CoPP S&H
police cir 100CO0O0

exceed-action drop
|

interface GigabitEthernet0/1

ip address 205%.165.200.225 255.255.255.0
ip access—group EGRESS out

duplex auto

speed auto

media-type rijdS

service—-policy input CoPP_ SSH

ip access—list extended CoPP_SSH
permit tcp any any eg 22
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class—map match-all CoPP_SSH
match access-group name CoPP_ SSH
!
policy-map CoPP_SSH
class CoPP_SSH
police cixr 100000

exceed—action drop
1

interface GigabitEthernet0/1

ip address 209.165.200.225 255.255.255.0
ip access—group EGRESS out

duplex auto

speed auto

media-type rij4

service-policy input CoPP_SSH

ip access-list extended CoPP_ SSH
deny tcp any any eg 22

class-map match-all CoPP_SSH
match access—group name CoPP SSH
!
policy-map CoPP_SSH
class CoPP_SSH
police cixr 100000

exceed-action drop
!

control-plane
service-policy input CoPP_SSH

ip access—list extended CoPP SSH
permit tcp any any eq 22

class-map match-all CoPP_ SS8H
match access-group name CoPP_SSH
!
policy-map CoPP_ SSH
class CoPP_SSH
police cir 100000

exceed-action drop
!

control-plane transit
service-policy input CoPP_SSH

ip access—list extended CoPP_SSH
permit tcp any any eg 22
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A. Option A
B. Option B
C. Option C
D. Option D

Correct Answer: C

QUESTION 5

What is a characteristic of a traditional WAN?

A. low complexity and high overall solution scale

B. centralized reachability, security, and application policies

C. operates over DTLS and TLS authenticated and secured tunnels
D. united data plane and control plane

Correct Answer: D
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